This works fine — single supply op amp(non inverting)
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142 TLOT2 Y
10k 27k or 5532
2.2ut
5 N+
I + /1 ki
i 27k + ——
mic —
. T
ouT  s0uF
12UT [[ 1 Y 2] Vier s o
W=z 7feoUT d,
1M+ [| 2 &[] 2 -
Ve - [ d 5[] 2+
Duplicate everything
lett of the S0UF cap
far the other channel. common | o
I
I

sekematic OF One Channel - Single Rail Version (Sight Difference Fram Text)
what [ want is to turn this one
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An op-amp connected in the non-inverting amplitier
configuration
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An op-amp connected inthe non-inverting amplifier
configuration

}
<

mi

O

but it doesnt work I cant hear anything



